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T = |[BKEE 330 270 60 142 188
FHI2ER BET 220 179 41 124 96
T = [BKEE 317 281 36 136 181
FHISER BET 223 165 58 131 92
‘ IB7KiEE 201 154 47 78 123
TRIAEE (IBETF 130 94 36 72 58
R 180 159 21 96 84
‘ [HKfEE 115 82 33 48 67
TRISEE |RATF 63 48 15 35 28
R 351 327 24 191 160
‘ IB7KiEE 73 46 27 21 52
FRI6EE |RATF 33 20 13 17 16
R 417 374 43 257 160
‘ IB7KiEE 55 21 34 15 40
ERITEE |RETF 36 22 14 14 22
R 434 375 59 247 187
T e = B 64 35 29 30 34
FHISER R 529 462 67 337 192
T = B 34 13 21 16 18
FHI9ER R 482 434 48 299 183
T b = B 18 10 8 6 12
FH20FRE R 424 394 30 271 153
nAnn 2 ﬁn{ﬁ 9 7 2 4 5
FHAFRE R 384 338 46 244 140
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